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 8,2 45,4 2,2 43,6 0,6 

     HT -  
SRSWR 2,47·1013 1,00 

    1,09·1013 0,44 
    7,95·1012 0,32 
   1,52·1013 0,61 
   1,48·1013 0,60 

    
 1,08·1013 0,44 

     
GREG-  -  

SRSWR 1,33·1013 1,00 
    4,18·1012 0,31 
    2,86·1012 0,22 
   6,45·1012 0,48 
   6,62·1012 0,50 

     4,31·1012 0,32 
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    1,5 98,7 12,1 

    1,5 64,2 7,7 
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ARB HT 0,0 8,1 1,1 1,6 
GREG-P 0,0 8,0 1,1 1,5

RRMSE HT 0,2 216,7 33,1 31,4 
GREG-P 0,2 216,5 32,9 31,3 

   
(    

   
 ) 

ARB HT 0,0 1,4 0,3 0,3 
GREG-P 0,0 1,3 0,3 0,3

RRMSE HT 0,1 35,9 10,1 7,6 
GREG-P 0,1 35,5 10,1 7,6 

  
( ,   
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ARB HT 0,0 0,7 0,1 0,1 
GREG-P 0,0 0,7 0,1 0,1 

RRMSE HT 0,0 9,1 1,6 1,7 
GREG-P 0,0 9,1 1,6 1,7 







  dY




  

  

-
 

-
  

-
 

 ,   
   ,   

 

HT 4,0 16,1 9,9 2,8 

GREG-P 3,9 15,4 9,4 2,7 
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 ) 

HT 1,0 6,7 4,3 1,7 
GREG-P 0,9 6,5 4,1 1,6 

  ( ,   
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HT 0,1 1,1 0,5 0,3 
GREG-P 0,0 1,0 0,5 0,3 


